CORPORATE FINANCE





    MBAC 6060
Chapter 12 – Financial Planning & Forecasting (13th ed.)
1. Jefferson City Computers has developed a forecasting model to determine the additional funds it needs in the upcoming year.  All else being equal, which of the following factors is likely to increase its additional funds needed (AFN)?

a. A sharp increase in its forecasted sales and the company’s fixed assets are at full capacity.

b. A reduction in its dividend payout ratio.

c. The company reduces its reliance on trade credit that sharply reduces its accounts payable.

d. Statements a and b are correct.

e. Statements a and c are correct.

2. Which of the following statements is most correct?
a. Inherent in the AFN formula is the assumption that each asset item must increase in direct proportion to sales increases and that spontaneous liability accounts also grow at the same rate as sales.

b. If a firm has positive growth in its assets, but also has no increase in retained earnings, AFN for the firm must be positive.
c. Using the AFN formula, if a firm increases its dividend payout ratio in anticipation of higher earnings, but sales actually decrease, the firm will automatically experience an increase in additional finds needed.

d. Higher sales usually require higher asset levels. Some of the increase in assets can be supported by spontaneous increases in accounts payable and accruals, and by increases in certain current asset accounts and retained earnings.
e. Dividend policy does not affect requirements for external capital under the AFN formula method.

      3.   Considering each action independently and holding other things constant, which of the     following actions would reduce a firm's need for additional capital?

a.
An increase in the dividend payout ratio.

b.
A decrease in the profit margin.

c.
A decrease in the days sales outstanding.

d.
An increase in expected sales growth.

e.
A decrease in the accrual accounts (accrued wages and taxes).

4.
Which of the following regarding AFN is most accurate?

a.
Since accounts payable and accruals must eventually be paid, as these accounts increase, AFN also increases.

b.
Suppose a firm is operating its fixed assets below 100 percent capacity but is at 100 percent with respect to current assets.  If sales grow, the firm can offset the needed increase in current assets with its idle fixed assets capacity.

c.
If a firm retains all of its earnings, then it will not need any additional funds to support sales growth.

d.
Additional funds needed are typically raised from some combination of notes payable, long-term bonds, and common stock.  These accounts are nonspontaneous in that they require an explicit financing decision to increase them.

e.
All of the statements above are false.

Please visit http://www.askassignmenthelp.com/corporate-finance-assignment-help.html to get answer of all these questions
5. Jill’s Wigs Inc. had the following balance sheet last year:

	
Cash
	$    800
	
	Accounts payable
	$   350          

	Accounts receivable
	450
	
	Accrued wages
	150

	Inventories
	950
	
	Notes payable
	2,000

	Net fixed assets
	34,000
	
	Mortgage
	26,500

	
	
	
	Common stock
	3,200

	
	_______      
	
	Retained earnings
	   4,000

	
	
	
	
	

	  Total assets
	$36,200
	
	     Total liabilities 

     and equity
	$36,200


Jill just invented a non-slip wig for men that she expects will cause sales to double from $10,000 to $20,000, increasing net income to $1,000.  She feels that she can handle the increase without adding any fixed assets.  (1) Will Jill need any outside capital if she pays no dividends?  (2) If so, how much?

a. No; zero

b. Yes; $7,700

c. Yes; $1,700

d. Yes; $700

e. No; $700 surplus
6. Kenny Corporation recently reported the following income statement for 2001 (numbers are in millions of dollars):
	Sales
	$7,000

	Operating costs
	  3,000  

	EBIT
	$4,000

	Interest
	    200

	Earnings before taxes (EBT)
	$3,800

	Taxes (40%)
	  1,520

	Net income available to common shareholders
	$2,280


The company forecasts that its sales will increase by 10 percent in 2002 and its operating costs will increase in proportion to sales.  The company’s interest expense is expected to remain at $200 million, and the tax rate will remain at 40 percent.  The company plans to pay out 50 percent of its net income as dividends, the other 50 percent will be additions to retained earnings.  What is the forecasted addition to retained earning for 2002?

a. $1,140

b. $1,260

c. $1,440

d. $1,790

e. $1,810

Please visit http://www.askassignmenthelp.com/corporate-finance-assignment-help.html to get answer of all these questions
7. Brown & Sons recently reported sales of $100 million, and net income equal to $5 million.  The company has $70 million in total assets.  Over the next year, the company is forecasting a 20 percent increase in sales.  Since the company is at full capacity, its assets must increase in proportion to sales.  The company also estimates that is sales increase 20 percent, spontaneous liabilities will increase by $2 million.  If the company’s sales increase, its profits margin will remain at its current level.  The company’s dividend payout ratio is 40 percent.  Based on the AFN formula, how much additional capital must the company raise in order to support the 20 percent increase in sales?
a. $2,000,000
b. $6,000,000
c. $8,400,000
d. $9,600,000
e. $14,000,000
8.
Jackson Co. has the following balance sheet as of December 31, 2001.
	Assets:
	
	
	Claims:
	

	Current assets
	$   600,000
	
	Accounts payable
	$   100,000

	Fixes assets
	400,000
	
	Accruals
	100,000

	
	
	
	Notes payable
	100,000

	
	
	
	Long-term debt
	300,000

	
	___________       
	
	Total common equity
	    400,000

	   Total assets
	$1,000,000
	
	    Total claims
	$1,000,000


In 2001, the company reported sales of $5 million, net income of $100,000, and dividends of $60,000.  The company anticipates its sales will increase 20 percent in 2002 and its dividend payout will remain at 60 percent.  Assume the company is at full capacity, so its assets and spontaneous liabilities will increase proportionately with the increase in sales.
Assume the company uses the AFN formula and all additional funds needed (AFN) will come from issuing new long term debt.  Given its forecast, how much long-term debt will the company have to issue in 2002?

a. $  12,000

b. $  60,000

c. $  88,000

d. $  92,000

e. $112,000
9. Using the AFN formula approach, calculate the total assets of Harmon Photo Company given the following information:  Sales this year = $3,000; sales increase projected for next year = 20 percent; net income this year = $250; dividend payout ratio = 40 percent; projected excess funds available next year = $100; accounts payable = $600; notes payable = $100; and accrued wages and taxes = $200; Except for the accounts there is no other current liabilities.  Assume that the firm’s profit margin remains constant and that the company is operating at full capacity.
a   $3,000
b   $2,200

c   $2,000

d. $1,200

e. $1,000
10.    Apex Roofing Inc. has the following balance sheet (in millions of dollars):

         Current assets   $3.0   

Accounts payable              $1.2

         Net fixed assets  4.0   

Notes payable                     0.8

                                  


Accrued wages and taxes    0.3
                                  


Total current liabilities        $2.3

                                


Long-term debt                   1.2

                                


Common equity                  1.5

                             


Retained earnings                2.0
           Total assets   $7.0      

Total liabilities and equity   $7.0
Last year's sales were $10 million, and Apex estimates it will need to raise $2 million in new debt and equity next year.  You have identified the following facts: (1) it pays out 30 percent of earnings as dividends; (2) a profit margin of 4 percent is projected; (3) fixed assets were used to full capacity; and (4) assets and spontaneous liabilities as shown on last year's balance sheet are expected to grow proportionally with sales.  If the above assumptions hold, what sales growth rate is the firm anticipating? Use the AFN equation.
a.
187%

b.
 51%

c.
 97%

d.
 44%

e.
 26%

Please visit http://www.askassignmenthelp.com/corporate-finance-assignment-help.html to get answer of all these questions
Ch 12-11:  Percentage of sales method and ROE



You have been given the attached information on the Crum Company.  Crum expects sales to grow by 50 percent in 2005 and operating costs should increase in proportion to sales.  Fixed assets were being operated at 40 percent of capacity in 2004, but all other assets were used to full capacity. Underutilized fixed assets cannot be sold.  Current assets and spontaneous liabilities should increase in proportion to sales during 2005.  The company plans to finance any external funds needed as 35 percent notes payable and 65 percent common stock.  The interest rate is 8 percent; base interest expense on the debt at the beginning of the year (cash earns no interest income).  The dividend payout ratio will remain constant, irrespective of how many shares of stock are outstanding.  What is Crum's projected ROE using the percentage of sales method? (Ignore any financing feedback effects.)

Information on the Crum Company:

                                  
   


 
 2005     
     2005

                          
    2004     


Forecast  
   After AFN
Sales                   
$1,000.00

Operating costs  
     800.00                      
EBIT                   
 $  200.00 

Interest                    
       15.00                      
EBT                     
 $  185.00 

Taxes (40%)                       74.00                      
Net Income              
 $  111.00 

Dividends (60%)                 66.60                      
Add'n to R.E.                 $   44.40                      
Current Assets          
 $  700.00 

Net fixed Assets                300.00                      
Total assets                  $1,000.00                      
A/P and Accruals          $  150.00

N/P                                   200.00 

Common stock                  150.00

Retained earnings               500.00                      
Total Liab & Equity       $1,000.00                      
   AFN                                       

      Profit Margin      
11.04%

      ROE                
16.98%

      Debt/Assets        
35.00%

      Current ratio       
  2.00
      Payout Ratio       
60.00%

   AFN Financing:       Weights     
Dollars 
      N/P                
 0.3500 

      Common Stock       0.6500             
                         
 1.0000
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